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Errata

Page 158 – Regarding Example 5-26, the first two lines for configuration R1# should read:

                   interface Loopback0

                   ip address 137.99.2.1  255.255.255.0

                   The first two lines for configuration R2# should read:

                   interface Loopback0

                   ip address 137.99.3.2  255.255.255.0

Page 159 – In the first paragraph there are two instances when ‘RIP’ appears.  Please change each instance 

                   to ‘IGRP’.

Page 167 – Regarding Example 5-39, the fourth and last line of the example should read:

                   network 131.108.2.0, metric 8976 (neighbor 501)

Page 190 – The first paragraph should read, “Example 5-77 shows the routing table in Router R2, which R2 

                   is receiving 155.155.0.0/16, but it is not a candidate for default because it is not configured as a 

                   candidate for default route.”

                   The first sentence of the third paragraph should read, “In this example, R1 is sending 

                   155.155.0.0/16, and it is desirable to make R1 a candidate for default.”

                   The last sentence of the third paragraph should read, “Upon doing this, IGRP will automatically 

                   start treating 155.155.0.0/16 as the candidate for default and will set the gateway of last resort 

                   on R2.”

                   The last paragraph should read, “Example 5-79 illustrates that after the configuration change 

                   on R1, the debug ip igrp transaction output shows IGRP treating 155.155.0.0/16 route as an  

                   exterior route because it is marked as a candidate for default route.”

Page 191 – The first sentence of the first paragraph should read, “Example 5-80 now shows that the 

                   gateway of last resort is set and that 155.155.0.0/16 is marked as a candidate for default.”

Page 209 – The fifth sentence of the third paragraph should read, “Over WAN multipoint interfaces with a 

                   bandwidth greater than T1, and over point-to-point subinterfaces, the hello packets are also  

                   sent out every 5 seconds.”

Page 321 – The first sentence of the second paragraph should read, “In Figure 8-23, Area 1 will not receive 

                   any summary router or any external routes.”

                   The second sentence of the fourth paragraph should read, “Suppose in Figure 8-22 that Area 1 

                    is defined as a stub area and there is a requirement of redistribution of an IGRP route into that 

                    area.”

